Roll No:-
Sem-VI1I Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Civil Engg.) (Theory) [Max. Marks: 70]
Contracts and Accounts (1615602-P)

- All questions are compulsory. (& ws1 s1f7am 2 |)
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 31 sifera foma 2])

Group (A) (3 )
Q.1  Choose the most suitable answer from the following options. (1*20=20)
(waiteres Sudw forehea st e fore |):-

(a) Tender (ffemr) (b) Contract (stgs4) (c) BOQ (s.=f.#1.) (d) EMD (Z.wm @)

ii. Which of the following is also termed as public private partnership (P.P.P)?
(FrfetRaa o & foret afecteh WTgae aré-riRT (f.dt.dt.) +ff a1 St )
(a) Tender (ffemr) (b) Contract (s13st4) (c) MOU (wn.31.3,) (d) BOT (sft.sm?t)

iii.  Which of the following gives present fair value of a property?
(Frafafiad & & %1 wufa 1 ada™ 3t 7o o 87? )
(a) Specifications (b) Estimating (c) Costing (d) Valuation
(feferfezat ) (sepe) () (i)

iv. Loss in value of a property due to change in the fashion is termed as —
(e # Sae % HROT foRE TR o qed | St ohT shaT ST 8-)
(@) Sinking fund (b) Depreciation (c) Annuity (d) Obsolescence
(fefshm be) () () (srsrerer)

V. Cash book records (Ig ==t 7 frehre foram sar g------- )
(a) Transaction relating to actual receipts (arfass W & efefia ame)
(b) Payment of cash (F= =1 syram)
(c) Both (a) & (b) ((37) =i (=) awi)
(d) None of these (3 @ =g )

vi.  Reinforced cement concrete (RCC) work is measured in

(vrarfera €fiie shsfie (TEH.) wrf it o1 -------- &Y STt 2 |)
(a) m () (b) m? (arfrex) () m® (i) (d) kg (fm)
vii.  Compensation given by the contractor for delay in work is termed as—
(%Far 5T T 3 o fordr femm T et e 2)-)
(a) Advance (b) Security deposit (c) Liquidated damage (d) None of these
(=frm) (e <) (e &=iTT) (31 @ =ig 7TEN)

Page 10f 4 (1615602-P)



viii.  Loss in property due to wear and tear is called
(weafdr % 22 Be % hRT 36 Hed § 31T FH il e S )

(@) Inflation (b) Sinking Fund (c) Depreciation (d) None of these

(Trrhifa) (Rifs wve) CRE)) (3 & =S F1g )
IX.  Volume of one bag of cement in India is— (v # we s wiitfe w1 @ g 2-)

(a) 0.023 m® (b) 0.033 m® (c) 0.043 m® (d) 0.053 m®

(0.023 =) (0.033 =+i=) (0.043 =) (0.053 =#i=)
X. Actual size of modular brick is— (Wigger 3¢ 1 areafae w1 2-)
(@) 15cm x 10 cm x 10 cm (15 &=t x 10 &+t x 10 &) () 10cm x 10 cm x 9 cm (10 &t x 10 =ft X 9 &)
(b) 18 cmx 9cm x 9 cm (18 &t X 9 &t X 9 &) (d)19cmx 9cm x 9 cm (19 =t x 9 &t X 9 =)

Xi. Notice inviting tender is prepared for (ffear smfra e it gemT Faw i St 2-)
(@) CPWD (.. ssg.€t.) (b) Bidders (fsrex) (c) Clients (zme=) (d) Citizen (Fmrfen)

xii. ~ The amount of money given to contractor for establishment purpose is termed as—
(FITOHT o ITTT T ShAR T 3T TS T A HET ST §)

(a) Working Advance (b) Mobilization Advance (c) Imprest Advance (d) Establishment Advance
(FriRTt @1t ) (wferamgsrer @1f3m) (emrerT s1fim) (e 273m)
xiii.  Scrap value is defined as the expected or estimated value of the asset at the ----
(< o= =t wef % o T % SFTIATHA A o T H TR Fopam S 2])

(a) Start of its working (b) End of its working (c) End of the year (d) None of these

(38 STFRT H 3T 3 THRT) (35er SuIiTaT 1afer o gy ) (5% & =) (37 & =1E )

Xiv.  The rate of an item of work depends upon ------ (a7 & F i R ------- ¢ feft et 2))
(a) Specifications of material (b) Specifications of work (c) Method to carry out the work  (d) All of the above

(et i fafarfear) (srrt St fafarfea) (st =Bt =Fe < farfe) (3wf =)

xv. A written document with details which kept in records as a proof of payment is termed as ------
(Forereor 3 ey v forftaa awarast S T & T 3 w9 § "efed foram s 2, s 2-)

(@) Bill (b) Voucher (c) Measurement book (d) Muster roll
(ferer) (are=R) (et ) (e )
Xvi.  Tender notice should be (fiferar g g =)
(a) As short as possible (b) On detailed form (c) Both (a) & (b) (d) None of these
(e wifers wva =) (foreqa = ) ((37) &R () =) (3 @ =i )

xvii.  The contract system not consistent with PWD norms is -------
(arser o, ST fY. Soey, AHEET o STET T 3-)

(a) Item rate contract ~ (b) Lump sum contract  (c) Percentage rate contract (d) Negotiated contract
(g = i) (e i) (st <@ o) GUEED

xviii. - The attendance of daily labourers is marked in ---- (f miqit 7 safeufa T oSt o St 2])

(a) Measurement book (b) Cash book (c) Muster roll (d) None of these
(areft wfrenr) (EEER)) (wr&et ) (¥ & =g 7))
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xiX.  On acceptance of tender the contractor has to deposit ------- money
(et wied 8 W SHhaR g1 f3T ST Tt ?))
(a) Advance (b) Security (c) Both (a) & (b)
(s7frm) (eam) (QENCED)
xX.  The scrap value of a building may be ----of its total cost of construction
(forett o 1 T o=t Sk frmtor & @ qew & g 2|)
(@) 75% (b) 50% (c) 40%
Group (B) (7w -=f)
Q.2 Explain Technical sanction
(TR W it ST #L | )
OR (ateram)
Define the following terms: a) Tender b) Security Deposit
(Frfaftad wet =t wfernfya & | (1) ffeer (@) geem smn)
Q.3 State the objectives of contract
(3T % ILAT T I L | )
OR (areram)
State any four functions of Junior Engineer
(i SIhRiar o foreel <R ST o IoerE &L | )
Q.4 Explain the following terms:
a) Bill
b) Expenditure sanction
( Frferfaa wat st samean + |
(37) fao=
() === it =it )
OR (areram)
Differentiate between scrap value and salvage value
(T o o fedwor g | fasie | )
Q.5 Write short notes on classification of contractor.
( 3FeR % Ffferor o dferw fewqoft forg | )
OR (areram)
Explain B.O.T project
(sft.an.& . afcrs it =me wi | )
Q.6 Write the procedure of submitting filled in tender document

(v e ffaeT SedTe ST R St wsR fow | )
OR (areram)

Define valuation , Write the necessity of valuation
( AT T TR L | iR ohi STTavaehart o | )
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Group (C) (ga - #)

Q.7 Define lump sum contract . List out the advantages of lump sum contract 6
(T TTA SIS Hl GRATIG L | T T3 I o <l h1 Geltsrg L | )
OR (ateram)
Describe contract method for carrying out work in P.W.D. 6

( i foefor fopmr i e s o Faferr fafer s ot | )

Q.8 Explain the following terms : 6
a) Labour contract
b) Fee contract

( Frafafaa wat i sme = |
(37) A
() I g )
OR (3teram)
Describe nominal muster roll . 6
( e Wt T =T i i |
Q.9 Enlist different account forms used in PWD Describe any one . 6
(e Fmfor feram & o <t ST et fafier o B i gefies | R o @ et | )
OR (areram)
Write the specifications for RCC (1:1 21:3 ) inslab 6

(s i e fife dofte (1113 ) o ffie ferd | )

Q.10 Draft a tender notice for construction of boys hostel at your place costing 1.2 crores. Assume all 6
suitable data.

(1.2 = 1 AT ¥ ST T W SICAF ST o A0 6 o T et g i1 arey ford | et ST Ser A o | )

OR (areram)
Explain the following terms. 6
a) Comparative statement
b) Indent
( FreifoRa uat ot =TT |
(37) qomTeHs foraroft
(@) =)
Q.11 Enumerate methods of calculation of depreciation .Describe any one in short 6
(R TOHT A 6T farfert i A fo | foret we T e | ol | )
OR (areram)
Enumerate the different modes of payment to the contractor. Describe any one in short. 6

(3R % AW T ford=T Sontert st A1 fordl | forelt wep o war o oot | )
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